

## COMMUTATORS INVOLVING MATRIX FUNCTIONS\*

OSMAN KAN<sup>†</sup> AND SÜLEYMAN SOLAK<sup>‡</sup>

**Abstract.** Some results are obtained for matrix commutators involving matrix exponentials  $([e^A, B], [e^A, e^B])$  and their norms.

**Key words.** Matrix commutators, Matrix exponential, Norm.

**AMS subject classifications.** 15A60, 15A45, 15A16.

**1. Introduction.** The commutator of two matrices  $A$  and  $B$  is defined as  $[A, B] = AB - BA$  and plays an important role in many branches of mathematics, mathematical physics, quantum physics and quantum chemistry. Most of the studies on matrix commutators have been focused on norm inequalities in recent years [1, 2, 3, 4]. Böttcher and Wenzel obtained a nice inequality for  $A, B \in M_n(\mathbb{C})$

$$(1.1) \quad \|[A, B]\|_F \leq \sqrt{2} \|A\|_F \|B\|_F,$$

where  $\|\cdot\|_F$  stands for the Frobenius norm [1].

Matrix functions are used in many areas of linear algebra and arise in numerous applications in science and engineering. Square root, polynomial, trigonometric functions, exponential and logarithm of matrices are widely used in matrix theory. The matrix exponential is by far most studied matrix function. There are many various ways in the literature to compute it. One of them is as follows:

$$(1.2) \quad \exp(A) = I + A + \frac{A^2}{2!} + \cdots + \frac{A^s}{s!} + \cdots = \sum_{s=0}^{\infty} \frac{A^s}{s!}$$

for  $A \in M_n(\mathbb{C})$  [7].

Our motivation in the present study is to obtain some results concerning relations between  $[f(A), B]$ ,  $[f(A), f(B)]$  and  $[A, B]$ , where  $f(x)$  stands for  $e^x$ , and to obtain inequalities for the Frobenius norms of matrix commutators (1.1) such as

$$\|[f(A), B]\|_F \leq c \|A\|_F \|B\|_F \text{ and } \|[f(A), f(B)]\|_F \leq k \|A\|_F \|B\|_F.$$

Let us give some easy properties of matrix commutators and matrix exponential before we present our main results. For  $A, B \in M_n(\mathbb{C})$ , we have

- $[A + B, C] = [A, C] + [B, C]$
- $[AB, C] = A[B, C] + [A, C]B$

\*Received by the editors on December 17, 2017. Accepted for publication on November 23, 2018. Handling Editor: Natalia Bebiano. Corresponding Author: Osman Kan.

<sup>†</sup>Karatay Belediyesi Religious Vocational Secondary School 42100 Karatay, Konya, TURKEY (matrixinequality@gmail.com).

<sup>‡</sup>Mathematics Department, Necmettin Erbakan University, 42090, Meram, Konya, TURKEY (ssolak42@yahoo.com).

- $[A, BC] = [A, B]C + B[A, C]$
- $[A^s, B] = sA^{s-1}[A, B]$ , where  $[A, [A, B]] = 0$
- $e^0 = I$ , where 0 denotes zero matrix
- $e^A e^B = e^{A+B}$ , if  $AB = BA$
- $e^A e^B = e^B e^A$ , if  $AB = BA$
- $e^{P^{-1}AP} = P^{-1}e^A P$ , where P is invertible

**2. Main Results.** In this section, we will present our results in two subsections. The results concerning the relations between  $[e^A, B]$ ,  $[e^A, e^B]$  and  $[A, B]$  will be presented in Section 2.1 and the results related to norm inequalities will be presented in Section 2.2.

**2.1. Properties of Commutators Involving Exponential Matrices.** Let us start with an easy-to-prove lemma which we will use in main results.

LEMMA 2.1. *Let A be an arbitrary n-square matrix. Then*

$$[e^A, B] = \sum_{s=1}^{\infty} \frac{[A^s, B]}{s!}.$$

*Proof.* We have  $[e^A, B] = e^A B - B e^A$ . If we replace  $e^A$  by its Taylor expansion (1.2) in the right hand-side of the equation, we get

$$\begin{aligned} [e^A, B] &= \left( I + A + \frac{A^2}{2!} + \cdots + \frac{A^s}{s!} + \cdots \right) B - B \left( I + A + \frac{A^2}{2!} + \cdots + \frac{A^s}{s!} + \cdots \right), \\ [e^A, B] &= \left( B + AB + \frac{A^2}{2!}B + \cdots + \frac{A^s}{s!}B + \cdots \right) - \left( B + BA + B\frac{A^2}{2!} + \cdots + B\frac{A^s}{s!} + \cdots \right), \\ [e^A, B] &= AB - BA + \frac{A^2}{2!}B - B\frac{A^2}{2!} + \cdots + \frac{A^s}{s!}B - B\frac{A^s}{s!} + \cdots, \\ [e^A, B] &= \sum_{s=1}^{\infty} \frac{[A^s, B]}{s!}, \end{aligned}$$

and this concludes the proof. □

A nice corollary can be obtained for a special case of A.

COROLLARY 2.2. *Let A be an n-square matrix satisfying  $[A, [A, B]] = 0$ . Then*

$$[e^A, B] = e^A [A, B].$$

*Proof.* In the previous lemma it was shown that  $[e^A, B] = \sum_{s=1}^{\infty} \frac{[A^s, B]}{s!}$ . On the other hand, we know that  $[A^s, B] = sA^{s-1}[A, B]$  when  $[A, [A, B]] = 0$ . Combining both results, we get

$$\begin{aligned} [e^A, B] &= \sum_{s=1}^{\infty} \frac{sA^{s-1}[A, B]}{s!}, \\ [e^A, B] &= \sum_{s=1}^{\infty} \frac{A^{s-1}[A, B]}{(s-1)!}, \end{aligned}$$

$$[e^A, B] = e^A [A, B],$$

and this concludes the proof.  $\square$

**THEOREM 2.3.** *Let  $A$  and  $B$  be complex  $n$ -square matrices. Then*

$$[e^A, e^B] = \sum_{s,t=1}^{\infty} \frac{[A^s, B^t]}{s!t!}.$$

*Proof.* As  $[e^A, e^B] = e^A e^B - e^B e^A$ , replacing  $e^A$  and  $e^B$  by their Taylor expansions (1.2) in the right hand-side of the equation, we get

$$\begin{aligned} e^A e^B - e^B e^A &= \left( I + A + \frac{A^2}{2!} + \cdots \right) \left( I + B + \frac{B^2}{2!} + \cdots \right) - \left( I + B + \frac{B^2}{2!} + \cdots \right) \left( I + A + \frac{A^2}{2!} + \cdots \right) \\ e^A e^B - e^B e^A &= AB - BA + \frac{A^2 B - B A^2}{2!} + \frac{A B^2 - B^2 A}{2!} + \frac{A^2 B^2 - B^2 A^2}{2!2!} + \cdots \\ e^A e^B - e^B e^A &= [A, B] + \frac{[A^2, B]}{2!} + \frac{[A, B^2]}{2!} + \frac{[A^2, B^2]}{2!2!} + \cdots \\ [e^A, e^B] &= \sum_{s,t=1}^{\infty} \frac{[A^s, B^t]}{s!t!}, \end{aligned}$$

and this concludes the proof.  $\square$

We can obtain nice corollaries related to this theorem by using some special  $A$  and  $B$ .

**COROLLARY 2.4.** *Let  $A$  and  $B$  be  $n$ -square matrices such that  $A^2 = 0$ ,  $B^2 = 0$ . Then*

$$[e^A, e^B] = [A, B].$$

*Proof.* This result is an immediate consequence of Theorem 2.3. Because  $A^2 = 0$ ,  $A^n = 0$  for  $n \geq 2$  for any square matrix, the Taylor expansion of  $e^A$  is equal to  $I + A$ . Thus,

$$\begin{aligned} [e^A, e^B] &= e^A e^B - e^B e^A \\ [e^A, e^B] &= (I + A)(I + B) - (I + B)(I + A) \\ [e^A, e^B] &= AB - BA = [A, B]. \end{aligned}$$

**COROLLARY 2.5.** *Let  $A$  and  $B$  be  $n$ -square matrices such that  $A^2 = I$ ,  $B^2 = I$ . Then*

$$[e^A, e^B] = \sum_{s=1}^{\infty} \frac{[A, B]}{(2s-1)!(2t-1)!}.$$

*Proof.* In this case, it is obvious that  $A^n = A$ ,  $B^n = B$  for odd  $n$  and  $A^n = I$ ,  $B^n = I$  for even  $n$  because  $A^2 = I$  and  $B^2 = I$ . So, the proof can easily be concluded using the Taylor expansions of  $e^A$  and  $e^B$ .  $\square$

Our next two results are related to  $[e^A, e^B]$ , where  $A$  and  $B$  both commute with their commutator. There are some studies related to exponential of matrices which commute with their commutator in the literature. One of them is as follows.

LEMMA 2.6. [6] If  $A, B \in M_n(\mathbb{C})$  commute with their commutator, then

$$e^A e^B = e^{A+B+\frac{1}{2}[A,B]}.$$

THEOREM 2.7. Let  $A$  and  $B$  be complex  $n$ -square matrices which commute with their commutator, then

$$[e^A, e^B] = 2e^{A+B} \sinh\left(\frac{[A,B]}{2}\right).$$

*Proof.* Let  $A$  and  $B$  commute with their commutator, then

$$e^A e^B = e^{A+B+\frac{1}{2}[A,B]}.$$

Since  $[A, B] = -[B, A]$ ,  $e^B e^A = e^{A+B-\frac{1}{2}[A,B]}$ ,

$$e^A e^B = e^{A+B+\frac{1}{2}[A,B]}$$

$$e^B e^A = e^{A+B-\frac{1}{2}[A,B]}$$

$$e^A e^B - e^B e^A = e^{A+B+\frac{1}{2}[A,B]} - e^{A+B-\frac{1}{2}[A,B]}.$$

It is clear that  $A + B$  commutes with  $\pm \frac{1}{2}[A, B]$  because  $A$  and  $B$  commute with their commutator. So,

$$e^{A+B+\frac{1}{2}[A,B]} = e^{A+B} e^{\pm \frac{1}{2}[A,B]}$$

$$[e^A, e^B] = e^{A+B} e^{\frac{1}{2}[A,B]} - e^{A+B} e^{-\frac{1}{2}[A,B]}$$

$$[e^A, e^B] = e^{A+B} \left( e^{\frac{1}{2}[A,B]} - e^{-\frac{1}{2}[A,B]} \right).$$

Since  $e^{\frac{1}{2}[A,B]} - e^{-\frac{1}{2}[A,B]}$  can be written as  $\sinh\left(\frac{[A,B]}{2}\right)$  in view of  $\sinh(x) = \frac{e^x - e^{-x}}{2}$ ,

$$[e^A, e^B] = 2e^{A+B} \sinh\left(\frac{[A,B]}{2}\right).$$

THEOREM 2.8. Let the complex  $n$ -square matrices  $A, B$  commute with their commutator, Then

$$[e^A, e^B] = \sum_{s,t=1}^{\infty} \sum_{r=0}^{s-1} \frac{A^{s-r-1} B^{t-1} A^r}{s! (t-1)!} [A, B].$$

*Proof.* We have

$$\begin{aligned} [A^s, B^t] &= A^{s-1} [A, B^t] + [A^{s-1}, B^t] A \\ &= A^{s-1} [A, B^t] + (A^{s-2} [A, B^t] + [A^{s-2}, B^t] A) A \\ &= A^{s-1} [A, B^t] A^0 + A^{s-2} [A, B^t] A + [A^{s-2}, B^t] A^2. \end{aligned}$$

If we continue reducing the power of  $A$  in the commutator, we get

$$[A^s, B^t] = \sum_{s,t=1}^{\infty} \sum_{r=0}^{s-1} A^{s-r-1} [A, B^t] A^r.$$

On the other hand, we know that  $[A, B^t] = t[A, B] B^{t-1}$  when  $[B, [A, B]] = 0$ . So,

$$[A^s, B^t] = \sum_{s,t=1}^{\infty} \sum_{r=0}^{s-1} t A^{s-r-1} B^{t-1} A^r [A, B],$$

because of  $A$  and  $B$  commute with their commutator. Applying this equality to  $[e^A, e^B]$ , we get

$$[e^A, e^B] = \sum_{s,t=1}^{\infty} \frac{[A^s, B^t]}{s!t!},$$

$$[e^A, e^B] = \sum_{s,t=1}^{\infty} \sum_{r=0}^{s-1} \frac{A^{s-r-1} B^{t-1} A^r}{s!(t-1)!} [A, B].$$

This concludes the proof.  $\square$

**2.2. Norm Inequalities.** In this section we will present our results related to the norm inequalities of  $A, B \in M_2(\mathbb{C})$  such as  $\|[f(A), B]\|_F \leq c \|A\|_F \|B\|_F$  and  $\|[f(A), f(B)]\|_F \leq k \|A\|_F \|B\|_F$  in the cases where their eigenvalues are real and complex numbers respectively.

LEMMA 2.9. *Putzer's Spectral Formula for  $2 \times 2$  matrices.*

- If the  $2 \times 2$  matrix  $A$  has real distinct eigenvalues  $\lambda_1$  and  $\lambda_2$ , then

$$e^{At} = e^{\lambda_1 t} I + \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} (A - \lambda_1 I).$$

- If the  $2 \times 2$  matrix  $A$  has one double real eigenvalue  $\lambda_1$ , then

$$e^{At} = e^{\lambda_1 t} I + t e^{\lambda_1 t} (A - \lambda_1 I).$$

- If the  $2 \times 2$  matrix  $A$  has complex eigenvalues  $\lambda_1 = \overline{\lambda_2} = a + ib$ ,  $b > 0$ , then

$$e^{At} = e^{at} \cos(bt) I + \frac{e^{at} \sin(bt)}{b} (A - aI).$$

THEOREM 2.10. *Let the  $2 \times 2$  matrix  $A$  have real distinct eigenvalues  $\lambda_1$  and  $\lambda_2$ . Then the following norm inequality holds, where  $c = \sqrt{2} \left| \left( \frac{e^{\lambda_1} - e^{\lambda_2}}{\lambda_1 - \lambda_2} \right) \right|$ .*

$$\|[e^A, B]\|_F \leq c \|A\|_F \|B\|_F.$$

*Proof.* Let the  $2 \times 2$  matrix  $A$  have real distinct eigenvalues. Then

$$[e^{At}, B] = \left( e^{\lambda_1 t} I + \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} (A - \lambda_1 I) \right) B - B \left( e^{\lambda_1 t} I + \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} (A - \lambda_1 I) \right)$$

$$[e^{At}, B] = e^{\lambda_1 t} B + \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} (A - \lambda_1 I) B - \left( e^{\lambda_1 t} B + \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} B (A - \lambda_1 I) \right)$$

$$[e^{At}, B] = \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} ((A - \lambda_1 I) B - B (A - \lambda_1 I))$$

$$[e^{At}, B] = \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} [A, B]$$

$$\|[e^{At}, B]\|_F = \left| \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} \right| \|[A, B]\|_F.$$

If we combine this with (1.1), we get

$$\| [e^{At}, B] \|_F \leq \underbrace{\sqrt{2} \left| \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} \right|}_c \|A\|_F \|B\|_F.$$

The proof can be concluded by setting  $t = 1$ .

$$\| [e^A, B] \|_F \leq \underbrace{\sqrt{2} \left| \frac{e^{\lambda_1} - e^{\lambda_2}}{\lambda_1 - \lambda_2} \right|}_c \|A\|_F \|B\|_F. \quad \square$$

**THEOREM 2.11.** *Let the  $2 \times 2$  matrix  $A$  have a double real eigenvalue  $\lambda$ . Then the following norm inequality holds, where  $c = \sqrt{2}e^\lambda$ .*

$$\| [e^A, B] \|_F \leq c \|A\|_F \|B\|_F.$$

*Proof.* We have

$$\begin{aligned} [e^{At}, B] &= (e^{\lambda t} I + te^{\lambda t} (A - \lambda I)) B - B (e^{\lambda t} I + te^{\lambda t} (A - \lambda I)) \\ [e^{At}, B] &= (e^{\lambda t} B + te^{\lambda t} (A - \lambda I) B) - (e^{\lambda t} B + te^{\lambda t} (A - \lambda I) B) \\ [e^{At}, B] &= te^{\lambda t} ((A - \lambda I) B - B (A - \lambda I)) \\ [e^{At}, B] &= te^{\lambda t} [A, B] \\ \| [e^{At}, B] \|_F &= e^{\lambda t} |t| \| [A, B] \|_F. \end{aligned}$$

If we combine this with (1.1), we get

$$\| [e^{At}, B] \|_F \leq \underbrace{\sqrt{2}e^{\lambda t} |t|}_c \|A\|_F \|B\|_F.$$

The proof can be concluded by setting  $t = 1$ .

$$\| [e^A, B] \|_F \leq \underbrace{\sqrt{2}e^\lambda}_c \|A\|_F \|B\|_F. \quad \square$$

**THEOREM 2.12.** *Let  $A, B \in M_2(\mathbb{C})$  and  $A$  have complex eigenvalues  $\lambda_1 = \overline{\lambda_2} = a + ib$ ,  $b > 0$ . Then the following norm inequality holds, where  $c = \sqrt{2}e^a \left| \frac{\sin(b)}{b} \right|$*

$$\| [e^A, B] \|_F \leq c \|A\|_F \|B\|_F.$$

*Proof.* Let the  $2 \times 2$  matrix  $A$  have complex eigenvalues  $\lambda_1 = \overline{\lambda_2} = a + ib$ ,  $b > 0$ . Then

$$\begin{aligned} [e^{At}, B] &= \left( e^{at} \cos(bt) I + \frac{e^{at} \sin(bt)}{b} (A - aI) \right) B - B \left( e^{at} \cos(bt) I + \frac{e^{at} \sin(bt)}{b} (A - aI) \right), \\ [e^{At}, B] &= e^{at} \cos(bt) B + \frac{e^{at} \sin(bt)}{b} (A - aI) B - B e^{at} \cos(bt) - \frac{e^{at} \sin(bt)}{b} B (A - aI), \\ [e^{At}, B] &= \frac{e^{at} \sin(bt)}{b} [(A - aI), B] = \frac{e^{at} \sin(bt)}{b} [A, B], \end{aligned}$$

$$\| [e^{At}, B] \|_F = e^{at} \left| \frac{\sin(bt)}{b} \right| \| [A, B] \|_F.$$

If we combine this with (1.1), we get

$$\| [e^{At}, B] \|_F \leq \underbrace{\sqrt{2}e^{at} \left| \frac{\sin(bt)}{b} \right|}_c \| A \|_F \| B \|_F.$$

The proof can be concluded by setting  $t = 1$ .

$$\| [e^A, B] \|_F \leq \underbrace{\sqrt{2}e^a \left| \frac{\sin(b)}{b} \right|}_c \| A \|_F \| B \|_F. \quad \square$$

**THEOREM 2.13.** *Let the  $2 \times 2$  matrices  $A$  and  $B$  have real distinct eigenvalues. Then the following norm inequality holds*

$$\| [e^A, e^B] \|_F \leq k \| A \|_F \| B \|_F,$$

where  $k = \sqrt{2} \left| \left( \frac{e^{\lambda_1} - e^{\lambda_2}}{\lambda_1 - \lambda_2} \right) \left( \frac{e^{\mu_1} - e^{\mu_2}}{\mu_1 - \mu_2} \right) \right|$ ,  $\lambda$ 's and  $\mu$ 's are eigenvalues of  $A$  and  $B$  respectively.

*Proof.* We have

$$e^{At} e^{Bs} = \left( e^{\lambda_1 t} I + \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} (A - \lambda_1 I) \right) \left( e^{\mu_1 s} I + \frac{e^{\mu_1 s} - e^{\mu_2 s}}{\mu_1 - \mu_2} (B - \mu_1 I) \right).$$

Let  $\frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} = x$  and  $\frac{e^{\mu_1 s} - e^{\mu_2 s}}{\mu_1 - \mu_2} = y$ , where  $x$  and  $y$  are real numbers. Then we get

$$e^{At} e^{Bs} = e^{\lambda_1 t + \mu_1 s} + e^{\lambda_1 t} y (B - \mu_1 I) + e^{\mu_1 s} x (A - \lambda_1 I) + xy (A - \lambda_1 I) (B - \mu_1 I),$$

$$e^{Bs} e^{At} = e^{\lambda_1 t + \mu_1 s} + e^{\mu_1 s} x (A - \lambda_1 I) + e^{\lambda_1 t} y (B - \mu_1 I) + xy (B - \mu_1 I) (A - \lambda_1 I),$$

$$[e^{At}, e^{Bs}] = xy ((A - \lambda_1 I) (B - \mu_1 I) - (B - \mu_1 I) (A - \lambda_1 I)),$$

$$[e^{At}, e^{Bs}] = xy [(A - \lambda_1 I), (B - \mu_1 I)] = xy [A, B],$$

$$\| [e^{At}, e^{Bs}] \|_F = |xy| \| [A, B] \|_F.$$

If we combine this with (1.1), we get

$$\| [e^{At}, e^{Bs}] \|_F \leq \sqrt{2} |xy| \| A \|_F \| B \|_F,$$

$$\| [e^{At}, e^{Bs}] \|_F \leq \underbrace{\sqrt{2} \left| \left( \frac{e^{\lambda_1 t} - e^{\lambda_2 t}}{\lambda_1 - \lambda_2} \right) \left( \frac{e^{\mu_1 s} - e^{\mu_2 s}}{\mu_1 - \mu_2} \right) \right|}_k \| A \|_F \| B \|_F.$$

The proof can be concluded by setting  $s, t = 1$ .

$$\| [e^A, e^B] \|_F \leq \underbrace{\sqrt{2} \left| \left( \frac{e^{\lambda_1} - e^{\lambda_2}}{\lambda_1 - \lambda_2} \right) \left( \frac{e^{\mu_1} - e^{\mu_2}}{\mu_1 - \mu_2} \right) \right|}_k \| A \|_F \| B \|_F. \quad \square$$

**THEOREM 2.14.** *Let the  $2 \times 2$  matrices  $A$  and  $B$  have real double eigenvalues,  $\lambda$  and  $\mu$ , respectively. Then the following norm inequality holds*

$$\| [e^A, e^B] \|_F \leq k \|A\|_F \|B\|_F,$$

where  $k = \sqrt{2}e^{\lambda+\mu}$ .

*Proof.* According to the hypothesis we have

$$\begin{aligned} e^{At} e^{Bs} &= (e^{\lambda t} I + te^{\lambda t} (A - \lambda I)) (e^{\mu s} I + se^{\mu s} (B - \mu I)), \\ e^{At} e^{Bs} &= e^{\lambda t + \mu s} I + se^{\lambda t + \mu s} (B - \mu I) + te^{\lambda t + \mu s} (A - \lambda I) + ste^{\lambda t + \mu s} (A - \lambda I) (B - \mu I), \\ e^{Bs} e^{At} &= e^{\mu s + \lambda t} I + te^{\mu s + \lambda t} (A - \lambda I) + se^{\mu s + \lambda t} (B - \mu I) + ste^{\mu s + \lambda t} (B - \mu I) (A - \lambda I), \\ [e^{At}, e^{Bs}] &= e^{At} e^{Bs} - e^{Bs} e^{At} = ste^{\lambda t + \mu s} ((A - \lambda I) (B - \mu I) - (B - \mu I) (A - \lambda I)), \\ [e^{At}, e^{Bs}] &= ste^{\lambda t + \mu s} [(A - \lambda I), (B - \mu I)], \\ [e^{At}, e^{Bs}] &= ste^{\lambda t + \mu s} [A, B], \\ \| [e^{At}, e^{Bs}] \|_F &= |st| e^{\lambda t + \mu s} \| [A, B] \|_F. \end{aligned}$$

If we combine this with (1.1) we get,

$$\| [e^{At}, e^{Bs}] \|_F \leq \underbrace{\sqrt{2}e^{\lambda t + \mu s} |st|}_k \|A\|_F \|B\|_F.$$

The proof follows by setting  $s, t = 1$ .

$$\| [e^A, e^B] \|_F \leq \underbrace{\sqrt{2}e^{\lambda+\mu}}_k \|A\|_F \|B\|_F. \quad \square$$

**THEOREM 2.15.** *Let the  $2 \times 2$  matrices  $A$  and  $B$  have complex eigenvalues  $\lambda_1 = \overline{\lambda_2} = a + ib$ ,  $b > 0$  and  $\mu_1 = \overline{\mu_2} = c + id$ ,  $d > 0$ , respectively. Then, the following norm inequality holds*

$$\| [e^A, e^B] \|_F \leq k \|A\|_F \|B\|_F,$$

where  $k = \sqrt{2}e^{a+c} \left| \frac{\sin(b) \sin(d)}{bd} \right|$ .

*Proof.* Expressing  $e^{At}$  and  $e^{Bs}$  using Putzer's Spectral Formula for  $2 \times 2$  matrices with complex eigenvalues and then computing  $e^{At} e^{Bs} - e^{Bs} e^{At}$  as in the previous theorems, the result follows.  $\square$

**Acknowledgment.** The authors are grateful to the editors of ELA for their useful comments.

#### REFERENCES

- [1] A. Bottcher and D. Wenzel. The Frobenius norm and the commutator. *Linear Algebra and Its Applications*, 429:1864–1885, 2008.
- [2] L. Laszlo. Proof of Böttcher and Wenzels conjecture on commutator norms for 3-by-3 matrices. *Linear Algebra and Its Applications*, 422:659–663, 2007.
- [3] S.W. Vong and X.Q. Jin. Proof of Bottcher and Wenzels conjecture. *Operators and Matrices*, 2:435–442, 2008.





- [4] Y.-D. Wu and X.-Q. Liu. A Short Note on the Frobenius Norm of the Commutator. *Mathematical Notes*, 87:935–940, 2010.
- [5] Nicholas J. Higham. Functions of Matrices. *Manchester Institute for Mathematical Sciences School of Mathematics e-print*, ISSN 1749-9097, 2005.
- [6] Nicholas J. Higham. *Functions of Matrices: Theory and Computation*. Society for Industrial and Applied Mathematics, 2008.
- [7] R. Horn and C. Johnson. *Matrix Analysis*. Cambridge University Press, 1991.
- [8] Grnt B. Gustafson. *Applied Differential Equations and Linear Algebra* ©1999-2019, Univ. of Utah, Salt Lake City, USA. Lecture Notes retrieved 29 November 2018 from <http://www.math.utah.edu/gustafso/s2019/2280/chapter11-systems/>